A I B | C | D ! i F I G | H
: NUT RETANER FOR 1/2°-13C
;g (4) ANCHOR BOLTS (SIZE PER GROUND NUT OPPOSITE OF HANDHOLE »
CHART (GALVANIZED FULL LENGTH) -—l o 1/4" THK (BRACKET)
i EACH VITH (6) HEY HeX NUTS 1 1/8" RAD (TYP) .
E (6) FLAT WASHERS — I- 1/8° THK (CLAWP)
— 1t ' WP 3/8°
‘I * (2) 1/2° THK ANCHOR BOLT FULL GALY : ' {
i TEMPLATES PER POLE LOCATE CONDUCTOR BRACKET - | _
L — gamaTes
i : : _ —
i ¥ CONDUCTOR CLAMP (8632) J——- -8
1 HOLE DIA = BOLT DI + 1/8" (TYP) 8" THREAD LENGTH — Ayt A
-+ D = BC. - 4" OF CONDUCTOR, CLANE. (sorgar):
1 BC. CONDUCTOR ATTACHMENT DETAL =
LOWER 68" HANDHOLE
3§ 0D = BC. + 4 POLE BASE PLATE TO BE DRILLED
AND TAPPED FOR 0.25" CAP 7 GA & 0.188° WALL
SCREW. (3) PLACES © 9° CENTER
q 10 CENTER ALL 4 EDGES ,
£ smutsss STEEL SCREW (ASTM: 0.250° WALL
4 F-503) AND WASHER PROVIDED
{SHIPPED UNASSEBLED)
(REF: B10D-386) (12 EAcH)
| [ R *.
1/4" THK BACK T0P OF ROUGH
J’ B8 T0 SEOURE : FOUNDATION Ry D e e T
£ TUBE wau—\ HANDHOLE COVER 7 GA & 0.186” WALL VELDED T e
1 B /2" x21/2° BR BASE CONNECTION DETAL %o;mmcs, surgo %
11 GA COVER WITH : 3y
Vf_nggcnsE;} ' FORM FIT & INSTALL
d
g APPROVED o 5 e
3 Manufacturer's Pole Plan & RADIO ATTACHMENT HOLES
H Approved For Listing As A O HDAKLS - 70 1/4° RADIUS (TVF)
12 Pre-Approved Drawing : >
T WSDOT Bridge & Structures Office G J-HOOK  prp] G LOWER i
#1/2° J-HOOK (REF: 45853) B Dat 2012 Tt G rrou o) ° "7 € J-HOOK (1" FROM TOP)
. : UPPER 6°x8" HANDHOLE FRAMES DETAW i -
1 (SEE BASE PLATE DETALL FOR v Gb ate 530 i y
-1 ORIENTATION) 7 ¢ ANCHOR BOLTS
2 1/4" THE BAK-UP 7 GA & 0.188" WALL : Be. mm::) r € DoLt HOLES W
[ e B T0 SEEURE 250" WAL 1/2° x 2 1/2° BAR (7 GA & 0.188" WALL) § 2° COUPLINGS
] >1/8'7 1’? HANGHOLE € UPPER HHF (1' FROM TOP)
3/4 % 3 1/2" BAR (0.250° WALL)
p— BASE_PLATE DETAIL
TUBE WALL
1/4°-20KC SS.
N Wherme Sorew
1 STATE: _ WASHINGTON | senp / sop + DWA-03Z311-1 mv| DESCRPTION

ton of thin &

GROUNDING PROVISION NUT
RETAINER C24774 WELDED

ROUND TAPERED STEEL CAMERA POLES-LOAD CASE #2

WASHINGTON STATE DEPARTMENT OF TRANSPORTATION

OPPOSITE HANDHOLE ON 5
h This document and the contents herein are proprietary and dic progerty of [} BY [ __m ENG BEF

POLE WALL WITH 1/2"-13NC Union Metal Carporation. This dooument is copled, reproduced, .
F S.S. SO NUT & 3/4° L6 SECTION A=A nm:dwmmmmhﬂmpmnmwwm LAY 41 NTS PI3R3I8
. S.S. HEX BOLT wen e the express written cousent of Union Matat Corporation. Fustherrnore

fih K Union Metal  Junion Meta! Corporation reserves the right to recall this docasneat sad ol P33'B323 R4
Corporation  |copiesatany time for any season. 2072
A I -] l ~ l n t = ' e | | "




